Limiting Reagent and Percent Yield Practice

For questions 1 and 2, calculate the limiting reagent.

1.  Al           +         Cl2      →   AlCl3
    3.6 mole          5.3 moles

2.  P2O5      +         H2O     →    H3PO4
    0.48 mole
     1.52 mole

3.  Sb2S3   +   Fe →   Sb  +   FeS


When 15.0g of Sb2S3 reacts with excess Fe, 9.84g of Sb were produced in lab.  What is the percent yield?

4.  Hydrazine (N2H4) is used as rocket fuel.  It reacts with oxygen to form nitrogen and water.   N2H4  +  O2   →     H2O  +  N2
a. How many liters of nitrogen form when 1.1 kg of N2H4  reacts with 1.0 kg of O2 ?

b. How many grams of excess reagent will remain after the reaction?

5.  If 40.4g of CO react with 55.6g of O2 and 42.8g of CO2 is produced in lab.  What is the percent yield?

CO  +  O2  →  CO2
